TECHNICAL
SPECIFICATIONS

Gibson

GXH*KSK4DH outdoor
GHH*KSK4DH indoor

Mini-Split, Single-Zone
Cold Climate Heat Pump
9K to 18K BTU - Up to 30.5 SEER

Single-zone mini-splits allow easy addition of heating and
cooling to specific areas in the home. Room additions, hot
and cold spots, and remodeling can present challenges
in terms of adequately heating and cooling these spaces.
Ductless mini-split systems are the perfect solution to
provide year-round comfort.

Equipped to operate with smart phone or tablet
through WiFi with standard Android or iOS
operating systems.

FEATURES and BENEFITS

¢ Two-Stage Compressor: A two-stage compressor provides

increased energy savings compared to a traditional compressor.
Improved COP and EER up to 25%.

e 7 Fan Speeds: From super low to turbo, you can choose the

desired airflow.

e Turbo Cooling: Press the “Turbo” button on the remote control to

enjoy increased airflow, which enables the indoor temperature to
reach the set temperature in a shorter time.

¢ 4 Sleep Modes:

a.Soundsleep mode - Settemperature is close to body temperature
and will adjust automatically and intelligently.

b. Good sleep mode - Before you get up, set temperature will
decrease or increase automatically to refresh you in the morning
c. Nap mode - Set temperature will be adjusted according to
desired characteristics, which effectively increases nap quality.
d. DIY mode - You can set temperature curve and sleep time
as you like.

¢ Auto Swing (vertical & horizontal auto swing): The louver can

be vertically or horizontally adjusted so as to maximize airflow and
comfort in the room.

¢ Quiet: 44 - 22dB
¢ [Feel: Now your thermostat can be wherever you are, for perfect

temperature control. The mini sensor in the remote control can
sense its surrounding temperature, and transmit the signal back
to the indoor unit. The unit adjusts airflow volume and temperature
accordingly so as to provide maximum comfort.

¢ Intelligent Preheating: When heating is started or defrosting is

finished or heating with low outside air temperatures, blower is
delayed until the indoor coil is warmed up, the indoor fan won’t run
(about 2min) to insure warm are delivery.

* Dry Anti-Mildew Design: Pressing "X-FAN" button in COOL or

DRY mode causes the indoor fan to continue operation for 2 minutes
in order to dry the indoor unit, and help avoid mold growth. The
X-FAN OFF is defaulted. X- FAN is not available in AUTO, FAN or
HEAT mode.

e Timer: User can program when the unit will turn on and turn off

each day.

e Auto Restart: After a power loss, the unit automatically restores

the previous function setting.

* Clock: Set the clock.
¢ Soft Start: By adjusting the startup voltage of compressor to lower

its starting current, enables the compressor to start smoothly and
increasing compressor longevity. This limits the impact on your
electrical utilities power network.

¢ Self Diagnosis: Abnormal operation or a part fails, the unit will shut

off automatically to protect the system. Meanwhile it will indicate
protection or error code.

¢ Lock: To lock the buttons to avoid improper operation.
¢ ChassisElectric Heater Function: When the outside airtemperature

is low, the unit with this function will preheat the chassis to melt the
ice on chassis. This will allow condensed water to escape chassis.

¢ Intelligent Defrosting: Maximize heating comfort with shorter

defrosting time. Traditional defrosting works by setting time, e.g.,
defrosting process is on for 10 minutes at each 50 minute interval.
Gibson I-Defrosting is only performed when needed, which reduces
energy waste by eliminating the unnecessary defrosting process.

¢ Low Ambient Cooling: Down to 0°F
* Low Ambient Heating: Down to -22°F
* Low Voltage Startup: 170 volt



MODEL IDENTIFICATION CODE

Gibson

G
Brand J

H H 12265 K S

Unit Type
C = Console

D = Ducted Unit
F = Floor Ceiling
H = High Wall

K = Cassette

X = Condenser

Unit Function
C = Cooling Only
H = Heat Pump
U = U-Match

Capacity

09 (2.6) - BTU
12 (3.5) - BTU
18 (5.3) - BTU
24 (7.0) - BTU

P

kW)
kW)
kW)
kW)

—

Series

F = Flex Match

K = -22°F Heat Pump

L =Lomo

S = Solar Powered

U = U-Match
30 (8.8) = BTU (kW) System Type
36 (10.6) = BTU (kW) M = Multi Zone
42 (12.3) = BTU (kW) S = Single Zone
48 (14.1) = BTU (kW) U = Universal

K 4 D H

SEER Position
H = High
L=Low

Compressor Type
D = Inverter
F = Fixed Speed

—————— Refrigerant Type
_l 4 - R-410A
Voltage
A =115-1-60

C =208/230-3-60
E = 220/240-1-50
G = 380/415-3-50
K =208/230-1-60
V = 220/240-1-50/60
W = 380/460-3-50/60

INSTALLATION CLEARANCES

A
(T

{
o

|
(20in) 1
" Back - 30cm (1 ft)

Drainage pipe

/.

Side - 50cm (20 in)

i —

CCTTTTTTTTT TR T

T TT(CTRTTTTTRTT

\K\\\\KKKK\\\\\K\(L{;L

drr




PHYSICAL AND ELECTRICAL SPECIFICATIONS / OUTDOOR UNITS

Up to 30.5 SEER — Single-Zone

Model Indoor Unit GHH09(2.6)KSK4DH GHH12(3.5)KSK4DH GHH18(5.2)KSK4DH

Outdoor Unit GXH09(2.6)KSK4DH GXH12(3.5)KSK4DH GXH18(5.2)KSK4DH

Rated Voltage V~ 208/230
Power Supply Rated Frequency Hz 60
Phases -- 1
Cooling Capacity Btu/h 9000 12000 18000
Heating Capacity Btu/h 9000 13000 19000
Maximum Over Current Protection A 15 20 30
Minimum Current (MCA) A 12 13 19
SEER - 30.5 23.0 21.0
HSPF - 10.5
Airflow Volume CEM 411/382/353/323/ 470/441/411/382/353/ 529/500/470/441/411/
294/235/205 294/264 353/323

Indoor Unit
Sound Pressure Level dB (A) 41/38/34/30/26/24/22 42/39/35/31/27/25/23 48/43/39/35/31/28/26
Dimension (L x H x D) inch 37.7 x 12.6 x 8.1 37.8x12.6 x 8.1
Dimension of Carton Box (L x H x D) inch 409 x 15.7x 125
Net Weight b 30.9
Gross Weight b 37.5
Outdoor Unit
Sound Pressure Level dB (A) 53 55 59
Dimension (W x H x D) inch 35.4x23.4x14.8 35.4 x23.5x 14.8 38.6 x31.1 x 16.8
Dimension of Carton Box (L x H x D) inch 37.2x16.4x24.8 42.5 x 19.1 x 33.1
Net Weight b 99.2 97.0 141.1
Gross Weight b 105.8 103.6 152.2
Refrigerant - R-410A
Refrigerant Charge oz 49.4 70.6
Length ft 25
Gas Additional Charge oz/ft 0.2 0.5
Outer Diameter of Liquid Pipe inch 1/4"
Outer Diameter of Gas Pipe inch 1/2" 5/8"
Maximum Distance Height ft 33
Maximum Distance Length ft 49 66 82
Loading Quantity (40’ Container) unit 154 90
Loading Quantity (40’ High Cube Container) unit 174 113




(my) Jamod [e1o] - induj
(4noy/mg 0001) Anoede) sjgisues - OS
(4nouy/mg 0001) Anoede) jeN [eloL - 01
aing oM - am
qing A1 - ga
vS'l 671 o'l ot or'L ve'L gel 0zt L1 6.0 69°0 69°0 690 190 doo
L2k | 9LelL | sLeL | ekvL | 28vL | Gesk | eesh | Lol | eg€L | soel | 82k | 602k | vLOL | sEolL LNdNI (0.61) 4029 (D.22) 4,08
029l | 6491 | €521 | 008k | 06'8L | vr6L | 296k | L8ZL | 92LL | S99L | €09L | evSt | e9€L | €Tl o]
vyl or'L 8¢g'L Ge'L ze'L 9zt 8Ll eLL oLt v2°0 S9'0 S9°0 S9°0 €90 doo
62'LL | 2LLL | Leer | 682k | 8s€l | Sevl | OvwL | o8k | veer | 89LL | ebiL | 990k 156 S0'6 LNdNI (2.91) 4.19 (0.€2) 4.€2 ]
ob¥L | v6vL | 69°GL | ¥vOL | 2eZL | 9L'8L | 9e8L | 2€9L | L9GL | 68Vl | 8L¥L | ovEl | €LeL | ¥SLL ol
9L zeL og'L Al Al 6L Ll 90°L €0'L 00 19'0 19°0 19°0 650 doo
v.'6 v0'0L | 290k | kL | 68kL | ¥SEh | bL2k | ELFEL | 99°0F | LLOK 89'6 81’6 A 28'L LNdNI (0.€1) 4,85 (0.81) 4.59
grel | 08eL | sseL | oevlL | 9L'SL | 66'SL | 029k | OgvL | 8s€lL | 62l | €e2L | LLLL | 840L | 866 ol
86°0 160 96°0 ¥6°0 160 180 280 810 9,0 250 Sv'0 S¥'0 S0 0 d09o
L¥'8 8.8 L1'6 L6 886 | LLOL | 920L | ¥€6 816 G8'8 8¢'8 908 aLL 20, LNdNI (0.61) 4029 (9.22) 4.08
080L | 6L'LL | 69°LL | 002l | 092l | 962 | 80€L | 26LL | LLLL | 62kL | 690L | 820L | €L'6 g6'8 ol
€60 260 160 68°0 180 €80 820 G0 €20 050 €70 €70 €70 2o d09
€5 182 0z'8 658 90'6 056 09'6 €58 ve'8 96, LWL ¥0'L ve9 909 1NdNI (9.91) 4,19 (0.€2) 4.€2 4"
09'6 966 | 9¥0L | 96°0L | PSHL | LbEL | veeh | 880k | ¥90L | SLOL Sv'6 16'8 608 €L, ol
160 060 680 /870 980 €80 080 GL°0 120 020 0 0 L0 0 doo
67'9 69'9 802 8y'L €6'L 9e'8 Lt'8 L 0g'L G6'9 ) 2L ] A LNdNI (D.€1) .85 (0.81) 4.99
828 €58 €0'6 €56 LLOL | 9970k | 08°0L | 9¥'6 2e6 188 ] 08'L 66'9 69'9 ol
19°0 090 850 LS°0 950 G50 ¥S°0 €50 050 810 91’0 €0 .20 120 doo
ge'9 859 88'9 90°L WL 29L 692 0L 19 €59 629 S0'9 L£G 82'G LNdNI (0.61) 4029 (9.22) 4.08
0+'8 6€'8 L8 00'6 Sv'6 2L6 18'6 v6'8 v9'8 €e'8 208 b2 G8'9 €L'9 ol
150 150 950 850 650 ¥S'0 250 050 L0 S0 ¥'0 620 920 920 doo
S9'G 98'g GL'9 S'9 6L9 W) oe'L 01’9 g9 78'G 95'g 82'S 9Ly 95y LNdNI (9.91) 4,19 (0.€2) 4.2 60
0z, L g8’/ AA] 99'8 80'6 81'6 ol's 182 StL 602 €L'9 209 18'S ol
¥S°0 €50 €50 250 150 150 670 L¥'0 %0 2o L0 82°0 ¥2°0 ¥2°0 doo
/87 20's [Roge] 19§ 76'G 129 Ge'9 LSS €€ 80'S 8y 65'Y LEy ¥6'€ L1NdNI (9.€1) 4,85 (9.81) 4,99
129 0¥'9 L9 Sl 85 008 oL's oLz 8.9 %9 919 Gg's A €0'S o]
(0.08) | (0.5¥) | (0.0v) | (D.6€) | (D.0€) | (D.52) | (D.02) | (D.S1) | (D.0L) | (2.8) | (D.0) | (.87 | (D.0L) | (DoSE-) am aa
d.22k | d.€LE | dobOL | 456 4,98 .22 4.89 4,65 4,05 ENL/ d.2¢ 4.€2 d.vl X} _Mwwm_\,_
(gq@) suonipuo) ioopinQ suonpuo) Joopuj suonipuo) 1oopuj

V1va 3ONVINHO4H3d ONITO0D a_w



(M) Jemod [ejol - Indulg
(anoy/mg 0001) Anoede) 1N [el0L - DL

aing oM - M
aing A1 - ga

ore | ore | e0e | Loe | voe | 862 | 16T | v6'C | 162 |88C| 98¢ | 28¢ | 642 | 9.2 | vLe | 092 | 6e2 | L'z | dOD

96l | ¥6'L | 26k | 06'L | 88'L | /8L | 981 | 88'L |06k [26L| v6'L | 967k | 86k | 00C 202 | voe | 902 | OLg [LNdNI (0.61) 4029 (D.22) 4.08

¥.°0Z | S5°02 | L2'02 | 686} | 8F'6L | ¥O'6L | 98'8L | 98'8) |98'81(98'8)| 98'8) | 98'8)L | 98'8L | 98'8L | 98'8L | OL'8L | 829k | 60GL | OL

gee | ez | lge | Ll'e | vLe | OL'E | 60€ | 90€ |20€ |66C| 962 | €6C | 06'Z | /82 | ¥8¢ | OL2 | 6€2 | 2te | 40D

26'L | 06F | 88k | /8L | 8L | €8+ | 28k | ¥8L |98k |88k | 06k | TV | V6L | 9671 86k | 002 | 602 | gtz [LNdNI (2.91) 4.19 (D.€2) 4.€L 8l

LL'Le | 2602 | €902 | S202 | €8'6L | 8€'6L | 6L'6L | 6L°6L |6L'6L6L6L| 6L6L | 6L'6L | 6L'6L | 6L6L | 6L'6L | 2v8L | 80LL | GESH | OL

Sh'e | eve | eve | ore | vee | e2€ | 62€ | SeE€ |2ge|8sle| SLe | 2t | 80€ | So€ 2oe | /8¢ | 8¥2 | €ke | 40O

48 | 98k | ¥8L | 28k | k8L | 08k | 8Lk | 08'L |28k V8| 98k | 88 | 06k | 26} 6L | 96k | Ok2 | 022 [LNdNI (9.€1) 4.8 (9.81) 4,99

66'l2 | 671 | 6V L2 | 60'LE | S9°02 | 6L°0C | 66'6L | 666} |66'61|66'6L| 66'6) | 6661 | 66'6L | 66'6L | 66'6L | 6L'6L | 62LL | 66°GL | OL

08C | 282 | 282 | 8¢ | 6L2 | SL2T | LL2 | €r2 |89 |v9e| 092 | LS2 | €52 | 6ve o¥z | oge | oLe | 68k | 40D

L8 | SEL | eek | keL | 62L | 82k | 92k | 82k |OSk (2| vEL | 9L | 8€L | OFL gL | wrL | 9¥'L | 8bL [LNdNI (2.61) 4029 (9.22) 4.08

orel | 862l | 082l | 952k | 0cgk | €02k | L6°LL | L6'LL [LE'LL|L6LL| L6'LL | L6KL | L6'LE | L6LL | L6LL | LELL | 8vOL | €56 | OL

ve'e | 62 | 962 | S6C | k6T | 182 | 98¢ | 282 |LLe|€Le| 69¢C | S92 | L92 | L9e | vse | l&2 | Lke | S6'L | OO

€L | ek | 62k | 2L | 92k | SeL | veL | 921 |s2L|ogTL| 2eL | vEL | 9€L | 8L oL | evk | vl | 9v'L [LndNI (0.91) 4.19 (0.€2) o€ 4}

eeel | 12el | eoel | 6L2L | 2sel | vl |elgl | gLl |grek|erer| arer | ekl |glek | eker | ekel | LSLE | 2901 | 0L6 | OL

LLe | ere | ere | 2ke | 90€ | ¥O'E | 90€ | LOE |96 |L6C| /82 | 282 | 8.2 | vLe | OoLe | eS¢ | Lee | L0C |dOD

Le'L | 62k | 2L | SeL | SeL | €Tk | 1L | €2k |SeL|LeL| 62 | LeL | eeL | gL 81 | 6eL | L | evt [1ndNI (D.€1) .85 (081)4.59

68°€L | 9L'€L | 8G€EL | 2EEL | YOEL | GL2L | €9Ch | €92k |€9°2h|E9C| €92k | €92k | €921 | €92k | €92k | 66k | LLLL [ OLOL | OL

S0¥ | 20V | 20v | 00 | L6€ | 8L€ | €9€ | vS€ |vpye|9ge| Lge | 6L | 2le | voe | L6C | S82 | 292 | Stz | dOD

L0 | 120 | 040 | 690 | 890 | 0L0 | 2.0 | ¥.0 [9,0|8.0| 080 | 280 | ¥80 | 980 | 880 | 060 | 260 | ¥6'0 [LNdNI (0.61) 4029 (2.22) 4,08

286 | €.6 | 096 | 2v6 | €26 | 206 | €68 | €68 |€6'8 (€68 | €68 | €68 | €68 | €68 | €68 | S8 | 228 | 98, | OL

0zy | 2y | 6Ly | 8Ly | 9Ly | vL'v | ¥L'v | YOV |26€|08€| 0L€ | 09€ | 05€ | Lbe | eg€ | 8Le | 262 | €22 | dOD

0.0 | 690 | 890 | 290 | 990 | S90 | ¥9°0 | 990 |89°0|[0L0| 220 | ¥20 | 920 | 8,0 | 080 | 280 | ¥80 | 980 |LNdNI (0.91) 4019 (0.€2) 4.€2 60

000L | 166 | .6 | 656 | 6€6 | 816 | 606 | 606 |606|606| 606 | 606 | 606 | 606 | 606 168 | 9¢8 | 008 | OL

S9v | S9v | S9Ov | ¥9v | €9V | LSv | LS¥ | Ovv |2V |vlv| 20t | Lee | 08¢ | 0L€ | 09€ | ¥ve | SL'e | ¥62 | OO

990 | S90 | 90 | €90 | 290 | 90 | 190 | €90 |S90 290 | 690 | LLO | €240 | S0 | 2.0 | 620 | 180 | €80 |LNdNI (2.€1) 4,85 (9.81) 4,99

ZroL | 2€0L | 8LOL | 666 | 8.6 | 256 | Lv'6 | L¥6 |Lv'6|Lv6| Lv6 | Lv6 | L¥6 | Lv6 | Lv6 | 826 | I28 | g8 | OL

(0.9'62)(0:6°€2)|(Do 1"1:2) (082 E) | (DcS1) |(DoL7E1)|(D:€78) | (Do 179) | (D:S) |(D:0) (Dot t-)[(D02"27)|(D6°8-)| (D272 1) |(Dot 1 1-)|(D8° L L-)| (D402-) | (D.0€-) am aa

4,82 | d4o6L | 40 | do¥9 | H46S | €S | dolb | o€V | ol |d2€| dobC | do6L | 491 | d.0L 4.9 4.0 d.r- | do22- _Mm._um_\,_

(gq@) suonipuo) IoopinQ suol}puo) loopuj | suonpuo) Joopuj

V1va 3ONVINHO44H3d ONILVIH




ACCESSORIES

SKU | DESCRIPTION | PACKAGE
EZ-PULL LINESETS
1014038 | LINESET 1/4X3/8X20' 1/2" INS EZ-PULL W/NUT (WHITE INSULATION) 12
1014039 | LINESET 1/4X3/8X 30" 1/2" INS EZ-PULL W/NUT (WHITE INSULATION 12
1014040 | LINESET 1/4X3/8X50' 1/2" INS EZ-PULL W/NUT (WHITE INSULATION) 8
1014041 | LINESET 1/4X5/8X20' 1/2" INS EZ-PULL W/NUT (WHITE INSULATION) 8
1014072 | LINESET 1/4X5/8X30' 1/2" INS EZ-PULL W/NUT (WHITE INSULATION) 8
1014043 | LINESET 1/4X5/8X50' 1/2" INS EZ-PULL W/NUT (WHITE INSULATION) 8

DUCTLESS LINESETS

01-1480 | LINESET 1/4X3/8X25' 3/8" INS W/NUTS (BLACK INSULATION) 12
01-1481 | LINESET 1/4X3/8X50' 3/8" INS W/NUTS (BLACK INSULATION) 8
01-1482 | LINESET 1/4X1/2X25' 3/8" INS W/NUTS (BLACK INSULATION) 12
01-1483 | LINESET 1/4X1/2X50' 3/8" INS W/NUTS (BLACK INSULATION) 8
1007534 | LINESET 1/4X5/8X25' 3/8" INS W/NUTS (BLACK INSULATION) 12
1007535 | LINESET 1/4X5/8X50' 3/8" INS W/NUTS (BLACK INSULATION) 8
01-1484 | LINESET 3/8X5/8X25' 3/8" INS W/NUTS (BLACK INSULATION) 12
01-1485 | LINESET 3/8X5/8X50' 3/8" INS W/NUTS (BLACK INSULATION) 8
05-0200 | LINESET 1/4X3/8X25' 1/2" INS W/NUTS 14G 4W WIRE (BLACK INSULATION 12
05-0202 | LINESET 1/4X1/2X25' 1/2" INS W/NUTS 14G 4W WIRE (BLACK INSULATION 12

)
)
05-0204 | LINESET 3/8X5/8X25' 1/2" INS W/NUTS 14G 4W WIRE (BLACK INSULATION) 12
05-0203 | LINESET 1/4X1/2X50' 1/2" INS W/NUTS 14G 4W WIRE (BLACK INSULATION)
EZ PULL INSUL COPPER TUBE COILS
1014044 | 1/4X1/2X164' EZ PULL INSUL COPPER TUBE (WHITE INSULATION)
1014045 | 3/8X1/2X164' EZ PULL INSUL COPPER TUBE (WHITE INSULATION)
1014046 | 1/2X1/2X164' EZ PULL INSUL COPPER TUBE (WHITE INSULATION) 1
( )
( )

1014047 | 3/4X1/2X164' EZ PULL INSUL COPPER TUBE (WHITE INSULATION
1014048 | 5/8X1/2X164' EZ PULL INSUL COPPER TUBE (WHITE INSULATION
MISC ACCESSORIES

01-1486 | COND PAD 18X38X3 PLASTIC 16
01-0734 | COND PAD 24X24X3 PLASTIC 16
01-0749 | COND PAD 36X48X3 PLASTIC 16
01-0709 | DISCONNECT BOX, 60 AMP NF 10
01-0710 | DISCONNECT BOX, 30 AMP FUSED 10
01-0711 | DISCONNECT BOX, 60 AMP FUSED 10
01-0768 | DISCONNECT BOX, 60 AMP, NF, ECONOMY 10
01-0796 | WIRE WHIP 1/2"X4' #10 WIRE NON METALLIC 12
01-0797 | WIRE WHIP 1/2"X6"' #10 WIRE NON METALLIC 12
01-0798 | WIRE WHIP 3/4"X4' #8 WIRE NON METALLIC 12
01-0799 | WIRE WHIP 3/4"X6' #8 WIRE NON METALLIC 12

1003243 | MINI SPLIT CONDENSATE PUMP 120V 60HZ (MS602ULC)

05-0600 | MINI ORANGE ASPEN PUMP KIT 100V-250V 30K BTU SPLIT PUMP 1
05-0604 | MINI ORANGE ASPEN PUMP KIT 100V-250V 60K BTU SPLIT PUMP 1
1014066 | TOOL BOX DUCKLESS A/C INSTALL KIT 1

— 6



ACCESSORIES (Continued)

1003280 | WALL CONDENSER BRACKET 300 LB (WBB300)
1014051 | MIGHTY BRACKET-MINI SPLIT INSTALLATION TOOL 4
1014065 | WALL CONDENSER BRACKET 500 LB HURRICANE RATED
1003396 | MINI SPLIT CABLE 14/4 STRANDED 600V 50' 5
1003397 | MINI SPLIT CABLE 14/4 STRANDED 600V 250' 1
1014049 | STRANDED PLENUM CABLE 18/2 CL2P 250" 4
1014050 | STRANDED PLENUM CABLE 18/2 CL2P 500' 1
1014058 | SHEILED CABLE 50' 4/C 14GA MINI SPLIT INTERCONNECT CABLE 1
1003263 | SURGE PROTECTOR ICM517 1
1014053 | CONDENSER RISERS, PLAROCK 4" RISERS 18" L 20
1014061 | CONDENSATE TRAP, WATERLESS TRAP 5/8" 10
05-0608 | CONDENSATE OVERFLOW SAFTEY SWITCH FOR MINI SPLITS (SS610E) 12
1014062 | LINESET WALL DUCT KIT 12'...KIT INCLUDES DUCTING 4' LONG (3)...
COUPLERS (2)...WALL
INLET (1)...END FITTING (1)...90 DEGREE FLAT ELL (1).....3 1/2" 1
1014063 | INESET WALL DUCT KIT 12'...KIT INCLUDES DUCTING 4' LONG (3)...
COUPLERS (2)...WALL
INLET (1)...END FITTING (1)...90 DEGREE FLAT ELL (1).....4 1/2" 1
1014059 | UNINSULATED DRAIN HOSE 5/8"X20' 16MM 5
1014060 | INSULATED DRAIN HOSE 5/8"X65' COIL INSULATED 14MM 1
01-1468 | DRAIN HOSE PLASTIC 3/4" 100' 1
1014054 | NOKINK FLEXIBLE REFRIG CONNECTOR BETWEEN LINESET 4
AND EVAPORATOR 1/4"X36"
1014055 | NOKINK FLEXIBLE REFRIG CONNECTOR BETWEEN LINESET 4
AND EVAPORATOR 3/8"X36"
1014056 | NOKINK FLEXIBLE REFRIG CONNECTOR BETWEEN LINESET 4
AND EVAPORATOR 1/2"X36"
1012057 | NOKINK FLEXIBLE REFRIG CONNECTOR BETWEEN LINESET 4
AND EVAPORATOR 5/8"X36"
BRASS ADAPTER 5/16" FEMALE X 1/4" SAE MALE 55 DEGREE BEND 5
AND SWIVAL NUT
BRASS ADAPTER 5/16" FEMALE X 1/4" SAE MALE VALVE CORE IN ADAPTER 2
TORQUE WRENCH 7-IN-1 WITH 6 INTERCHANGEABLE HEADS 1
MINISPLIT A/C TOOL KIT R-410A (TLB410A) 1
REFR410A | REFRIGERANT R410A 25LB CYLINDER 1




AL t2d CERTIFIED..

www.ahridirectory.org

4)

ry Small HP

ENERGY STAR
PARTNER

GENERAL TERMS OF LIMITED WARRANTY

Nortek Global HVAC, LLC will furnish a replacement for any part of this product which fails in normal use and service
within the terms and conditions of the warranty.

For complete details of the Limited Warranty, including applicable terms and conditions, see your local installer or
contact the Nortek Global HVAC, LLC warranty department for a copy.

Before purchasing this appliance, read important energy cost and efficiency information available from your retailer. Specifications and
illustrations subject to change without notice and without incurring obligations. Printed in U.S.A (12/2016)

723E-1216 www.gibsonhvac.com Gibson® trademark used under license. © Nortek Global HVAC, LLC. All Rights Reserved.


http://www.tcpdf.org

